3 © 166 B3 A O0% 5 8 1A 1340 4 £ R
#8 :BEHRS

:

A5 © 166
Rz% % A

1. 4+ /& & customized anterior guidance table ? 1 & sS4 46 H] 7 @ posterior
condylar guidance 7 f& Bt 7 ML B RBAE S B - (10%)
2. fe At BE Skt F T $A4E crown fit to denture ? 348 il direct — indirect Fikby
ERARBRAE R - S AR ~ 4% - (10%)
3. 3% K] Research Diagnostic Criteria(RDC ) 245 4-#i Temporomandibular Disorder
(TMD) ? (10%)
4 BRTEEMAT BT HRAEHR 5% & O W &) overjet/overbite o 47 %
B2 R EHE - (8%)
5. 3% AR B4 biological width MR CHF BB BE - (8%)
6. FHRAMRTIEGRANT H SRR AAYE > LS ELEAMAFTEA
1?7 (8%)
7. What is “ferrule effect”? If you have a patient with problem of inadequate ferrule
(fig), how and what can you provide the treatment for the patient? (Please
explain your treatment options and reasons for each specific treatment option.)

(139%)

8. The patient wants to have a fixed prosthesis at #36 edentulous area. What are
your treatment options and reasons for each specific option? (139 )

9. TR B ARG SPGB ST R AR AT b
EBHF? (10%)

10. 3% EL 84747 Bl R 448 ( screw retained implant) M fo i E R E M
( cement retained implant ) #5424 i #4485 2 25 9 (10%)






